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Q.1 In which state Kudremukh which 1s famous for iron ore 1s located?
< TiE 3TIEh & [T VTt FaH@ ohe Tea | 12T 27 B
%
~ T
\\//a) Karnataka/eh-dh
b) Bihar/ [sER
c) Odisha/ AT

d) Assam/ 3HH




®* Kudremukh 1s the name of a mountain range 1n
Chikkamagaluru district and a small mining town in
Karnataka. It 1s Karnataka’s second highest peak after
Mullayanagiri. The Kudremukh township was developed as
an Iron ore mining town to operate the public sector
Kudremukh Iron Ore Company Ltd. This company was
closed 1in 2006 due to environmental 1ssues.
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92 The following two states are largest producers of Coal in India?
feferiad 2 T Y | Fd & 9o 92 IcdTe 27

—

e .
2) Jharkhgnd & Chhattisgarh/ait@e iR

Y N
wd FATG
. A N b) Madhya Pradesh & Orissa/ 7€ Y31 31K
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Jharkhand and Chhattisgarh are 2 Blhar & West Bengal/ ﬁ

largest coal producing states of |
India d) Andhra Pradesh & Chhattisgarh/ AT
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Q 3 Diamond 1s an allotrope of:

/W@W%

77— S.S.C. JE Hehi-ehet TET 27 ST, 2020 ( 1- TTed)

(a) Boron/ S

(b) Silicon / TH{cThI I

(c) Arsenic / ATEHE 1

\_5%1) lC?rbon/ TSI T )
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* 'Diamond’ 1s an allotrope of carbon. When

an element i1s found in many forms, this
property of the element 1s called allotropy.
Other allotropes of carbon are graphite,
coal, coke, charcoal, fullerene etc.
Diamond and graphite are the two major
crystalline forms of carbon.



Q.4 Sour taste of lemon 1s due to the presence of which of the following?
fie] AT @ET €a1e foreh! HisTaril o hRUT BT 27
& N — . (&L
S.S.C. SAHATEH HTdeh T (T-1) 8 faadert) 2016 (11- reit)

\\//(,a) Citricgd/%ﬁfm"ﬁﬁl@
(b) Acetic acid/ THICS TS

(¢) Oxalic acid / ATHITcAH THS

(d) Formic acid/ HifHeh THE




* fis] T TS T, 6ok T H HAT3idh TFA I
SUTCATT o hIUT BIAT & ATgideh 3T 3T
ol S Hal I SR H ot aR S g,

%’IIOM e ﬁ%i‘lohl HiAl m\%u

® The sour taste of lemon 1s due to the

presence of citric acid 1n its juice. cause
happens. Citric acid 1s also found in other
fruits such as oranges and grapefruits, but
lemons contain higher amounts.



5 How many states in India have a forest cover more than the 75% of their

geographical lands area?

T 3 fohel) T2l o 3ok itmiiferen fir 851 3 75% & 31reh o 82
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@(79.3%%@% 9 5

The three states are Mizoram

(84.53%),  Arunachal  Pradesh
(79.33%) and Meghalaya (76.00%).



Q.6 ‘Kunchikal Falls”, highest tiered waterfalls in India 1s located 1n?
/“giol'\dohcfi STAYTT”’, TR ohl HoTd ST STAYUTT hal [&ord 82

a) Uttar Pradesh/3T¢ I3

—_

b) Uttarakhand/3TUES

&// C) F(arnataka/ahf_rﬁzﬁ" )

— ——

d) Tamilnadu/d et 'S

_——’\
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* Kunchikal Falls 1s the highest waterfall in
India in India. It is formed by the Varahi
river in the Shimoga district of Karnataka. It
is at an altitude of about 455 meters.




Q.7 Which of the following proteins 1s found in nails?

v fyefafas § T I AT § YT ST &2

S.S.C. HWWSI (T-T) 5 [T, 2017 (II- UTeft)

HUTfe (Keratin) Ush WER I Bl I8
IEH ST, ARG, HiT, 31 s § e

(a) Histone/ feem

Trl'lﬁ%l \&Cb) Keratin/ shTfe
Keratm is a fibrous protein. These (c) Elastin/ el
proteins are found in hair, nails, horns, (d) Actin/ Tfee B

wool, etc.



Q.8 What 1s the main component of human bone?
S Tl ol HE& B T &7

—

o S.S.C. ATATST TAUTH, (14 TR, 2017 (1-9Tefh)

(a) Phosphorus/ B ITh Y

NI (b) lCalcmm/%Ef\c_fSI'{W )‘
(c) Zinc/STEAT

(d) Iron/dET




AT TEEl A AT TEF (Main Component)
— I\ o N 0\ (a
hIIH 7, ST ESSAT ol TLEHT TAT HSIeld] YSH

3 ~ VA
FH | TEH G il@%ﬂw BTEhS )T
ASIOT HT BT H Glfersh {1 H UTAT SATell 2

®* The main component of human bone 1is
calctum, which 1s a mineral helpful in
providing structure and strength of bones. A
salt called calcium phosphate 1s found in the
highest amount in human bones.



Q.9 Highest percentage of carbon is found in which form of coal?
< FIIN F 1T ®Y T AThad TaISid e T ST 22

o) (i)

S

(b) Bituminous / I(EISIJ-HH
(c) Peat/dle

(d) Lignite / fTomTse




/@IHI%d FIA HI GIH HIX, IHDAT AR
gaay €9 7 | 390 90-95% deh hTed sl T
G0, T | T W 55-80%, fomee 7 40-55%

| e die et H 40% 9 T hisl- I=&T ST 2 |
N0 I
[ 6'5 -1 / o Anthracite is the hardest, brightest and best
- ) form of coal. It has a carbon content of 90-

[dIA1sL  95%. 55-80% carbon is found in bituminous,
d / 40-55% 1n lignite and less than 40% in peat

WQIE" coal.



Q.10 1° latitude 1s approximately km. equals to?

S 1© STETTRT ST ToRHY. o SR BT &2
| S.S.C. TS CHSL (T-I) 16 3TFER, 2020 (11- AT

</
1° STETST TR 111 fefY. (69 wHiet) (a) 122
SOREMEl Ab) 111
1° latitude 1s about 111 km. (69 miles) (c) 145

1s equal to . (d) 133

—
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Latitude
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Q.11 What 1s the term used to describe the angular distance of a place north or

south of Earth’s equator‘?

NI G

qeall 3T e (@ % S 41 ‘q”f\&TUToth o1 10T gt o1 a0 i o feTu foha

‘\TI—C{WW

ol

T ST &7

S.S.C. AT HTash TR’IF (T-1) 10 S, 2019 (11-9Tef)

Y
\4;1) Latitude / 3T&T1=T

— QO (b) Pole/¥d

_

(c) Hemisphere / Mg
(d) Longitude / IR

—




\/tr%a?aﬁm%‘&r@u h I ferur < T hl
IO G4 ol AU T oh [oTU_STETTRT I8 o

() ST feRAT ST &1 foryad o & gfall de e
3% Ereft FETIR ot B T T@TC, T ST B

10‘ The term latitude 1s used to describe the
CS' « angular distance of a location north or south
@ of the Earth's equator. All parallel circles
from the equator to the poles are called

latitude lines.
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Q.12 Which of the following 1s the longest river in Pakistan that originates from
/ Lake Manasarovar?
~ ﬁf—lﬁﬂ%ﬁﬁﬁ OTTSREdT hl Fad Sisfl el ShiF-H &, ST HEeR 3 & Fehetdl © 2

C. AT TITae T’ (T-1 12 59, 2019 (1I- Tett)

(a) Kabul / shTsleT
\-/&) Indus /ﬁ‘g

(¢) Sutlej/Fdatst

(d) Chenab / F=HTS

Golf vomn
Bengalen

sches

Meer
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RIVERSYSTEM ] 'ﬁ?‘q E | L4||°|'>{~<'|I--| 6T 1élEl'{}f Sslt| Hal %, Eﬁ
TR 3ol @ Feer %I@

(1) Indus River - ' ; * Fedemﬂy)ldn;l;}ktered
(2) Jehlum River ! " R ‘~°@ernnm“

- ; = e
(3 Chenab River [N No,,m?r,mg, - Qﬁi AT T T& a1 WA, THEd
(4) Ravi River ‘w-!*»’-*i"- -*vaq.-x"“

(5) Beas River t}a""‘ "Vb‘_w S I\ »

(6) Sultlej River iFederql\!yéleJnlstered _ ‘- ::Fﬁ-{ Eﬂ_'{ ﬁ 3:ﬁ-{ ﬁ
6 . %walhca’?} \ ,,,,,,_,m,-\ ﬁR—(ﬁ@ & 2 ( .
A oA ,‘;1 : .-;';" ._\_ Sy

° The Indus River is the longest river 1n

Pakistan, originating from Lake
Mansarovar. Lake Mansarovar 1s located in
Tibet. This river flows through India,
Pakistan and China and falls into the
K Arabian Sea.

INDIA

. /ﬂabi’&n fen :
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Q.13 Which of the following 1s a tributary of the river Brahmaputra that flows

through Bhutan?
{1 H € shI9-6f1 STaTTsT 7l shT Uoh HETeh et &, 311 Y2 ¥ Bleht S8l o7

T D (AT =) T ST Tl shl Teh TR @

:|E°r§ i \ﬂﬂ il S@L\l@ (a) Irrawaddy River / Sl gl
(Tt foreg 3 et 3 e R feera 3 * =
The Wang Chu (Wang Chu) River 1s a
tributary of the Brahmaputra River,
which flows through Bhutan. Thimphu, (d) Chindwin River / f%grqf&-ﬁ

the capital of Bhutan, is situated on the

(a

\/(b)(Wang Chhu River / 91T 7al
(c) Sittaung River / |l Aar

banks of this river.



Q.14 The city of 1s located at the mouth of the Yangtze River.

-/ TR AT A F geH W@yl @‘Dﬁ
= S.S.C. IS HTdeh T \T> , 2020 (I1I- 9TedT)

—
—

. . [} [} v .
< T TS IT8L Ties(t Ta] o TaH WX @ (a) Guangzhou /gl
e L o WY —_—

e 2 @'\H T Gl ST T T (b) Lhasa / <&@l
The city of Shanghai in China is

(¢) Beyjing/ CUSH

_Jd) Shanghai/3METZ

located at the mouth of the Yangtze

River. It 1s the largest city in China.




Q.15 The first Muslim to be elected as President of ‘Indian National Congress’

—

was -
W TSI i shT <A1 T JH GReeTH e8] i o
S.S.C. AT ek il (T-1) 11 fads) (111- 9Teth)

(a) Maulana Azad / AT SATSTE

(b) Mohammed Ali/ Tg+Ag 3Tl
\&) Badruddin Tyabji/SG®eT daarsit

(d) Shah Wali-ullah / 18 deil-3ea €
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Q7 8N
.(1887 3. JH(HETE H BT ™

B
e st )

Al ITETEIAT( TaEGH IS I offl I8

T TS SR o o QR 3Tee o |

®* Badruddin Tyabji presided over the third
session of the Congress held in Madras 1n
1887. He was the first Muslim President of

the Indian National Congress.



Q.16 Indian National Congress split for the first time in its session at :

I T i BT o TS 36k et % w H g 2

S.S.C. AMATST H1deh LY (T-l( , 2016 (11-9Tedl)
CA L

(a) Allahabad / 3ATETSIS

(b) Calcutta/ shedehdl

(¢) Surat/"{d
(d) Lahore/ AR




* AT TSI il T I [ordTSH a9 1907 H
Ot &7 HAT-STHT i H fawh & T8| T
o TS H TR et o Hqed SITed TTeR fofeteh
= ToRarT o |

®* The first split of the Indian National
Congress took place in the year 1907 at the

Surat session, in which the Congress split
into two separate factions, the moderates and
the extremists. In the partition of Surat, the
Garam Dal was led by Bal Gangadhar Tilak.



